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	Fill in the blanks with the words given. There is one extra word.
      humor, provide, extinction,  estimated,  mainly, locate, regular
1. The students here are ………………… from Japan.
2. We should take ………………………….. exercise to be fit and healthy.

3. Some kind of gorilla is in danger of …………………. .

4. The first thing to do after an earthquake  is to ………………. first aid for the 

injured people.

5. Can you …………………… England on this map?

6. He's got a great sense of …………………. He is very able to amuse people.
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	Match the definitions in column (A) with the words in column (B).

There is one extra word in column(B)
      A                                                                                    B

7. Change the old materials to use them again                a. concern
8. An event needing immediate action                            b. recycle
9. a feeling of worry about something                             c. flexible

10. physical harm to something                                        d. emergency
                                                                                          e. damage
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	Choose the correct choice.
11. You can practice your speaking skill by …………. in front of a mirror.
a. speaking                b. speaks               c. spoke               d. speak
12. A smile lets them …………… that you are human and trustworthy.
a. knowing                b. knows      c. knew               d. know
13. People lose their flexibility …………….. they grow older.
a. since                    b. as                  c. whether                  d. but
14. It's …………….outside to play football.
     a. cold enough        b. too cold         c. enough coldness    d. cold

     15. They were …………. old women that they couldn't hear a word of what I said.
       a. such a              b. such              c. such an          d. so

 16. You will have to pay ………………….you want or not.

  a. when             b. as                c. whether        d. since
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	Rewrite the following sentences with the reduced form of the underlined

 parts.

 17. Factories which burn coal and oil  help increase pollution.
     ............................................................................................... .

 18. Farming produces another greenhouse gas  which is called methane.
               ...................................................................................................
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	 Fill in the blanks with a suitable word of your own.
19. Exercise is good for you………………..it can make you feel happy.

20. There are so many reasons ……………….. exercise is important. 


	

	
	Sentence comprehension : Read the following sentences and choose

 the correct choice.

  21. The natural greenhouse effect is important without it , the earth would not be warm enough for humans to live. According to these sentences which one is NOT correct?
     a. The greenhouse effect is necessary
     b. The greenhouse effect is dangerous for the planet
     c. The greenhouse effect is required for the earth
     d. the greenhouse effect should be considered
   22. "Sometimes we do not know when a weak earthquake has happened under us."

        The above sentence tells us that ……………… .
a. weak earthquakes can not be predicted
b. we don't know the time of weak earthquakes
c. we don't feel weak earthquakes
d. we don't know what happens under us
 23. "Aerobic exercise is an activity that you do over and over to keep bringing 

        fresh oxygen to your muscles."

        According to this sentence aerobic exercise…………………………….. .
a. helps us feel no tiredness

b. helps the heart to send more oxygen to the muscles

c. makes our muscles to use less oxygen

d. increases our blood

24. " Ahmad was not old enough to go to the college". 

      It means that: …………….. .

     a. he was too old, so he didn't go to college

     b. he was too young , so he could go to college

     c. he was very old, so he couldn't go to college

     d. he was very young so he couldn't go to college
	

	
	Cloze Passage : Read the passage and choose the correct choice for

 each blank.

      Most people are afraid of …..…25…….. in public. They fear this even more than
      death. Everyone has a certain ……..26…….. of nervousness when talking to a 
      group, but the point is not to end nervousness; learn to control it. Just before your 
      speech do some deep ……..27…….. exercises to……..28…….. .Use your
      nervousness to add……..29…….. to your speech. Remember everyone wants you 
      to ……..30…….. .
     25. a. reacting             b. crossing            c. speaking              d. shouting

     26. a. balance              b. content             c. posture                 d. amount

     27. a. lowering            b. entering            c. breathing             d. greeting

     28. a. relax                  b. break                 c. carry                    d. spoil

     29.embarrassment       b. excitement        c. appointment         d. assignment

     30. a. dislike                b. realize               c. stretch                  d. succeed    
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	Read the following passage carefully and answer the questions

A famous writer who was visiting Japan was invited to give a lecture at a university to a large group of students. As most of them couldn’t understand spoken English he had to have a translator. During his lecture he told an amusing story which went on for rather a long time. At last he stopped to let the translator translate it into Japanese, and was very surprised when the man did this in a few seconds, after which all the students laughed loudly.

   After the lecture, the writer thanked him for his good work and then said to him, "Now please tell me how you translated that long story of mine into such a short Japanese one."

   "I didn’t tell the story at all", he answered with a smile," I just said that the respectful lecturer has just told a funny story, you will all laugh, please."

   31. The famous writer had to ask a translator to help him because …………. .

    a) he could not speak Japanese
    b) he did not know English

    c) the students didn’t understand Japanese

    d) his lecture was not in English

    32. The word this in line 5 refers to …………………………… .

    a) being surprised 

    b) translating the story

    c) letting him translate

    d) stopping the lecture

   33. After his long story, the speaker was surprised because the translator …………. .

    a) told the students a different story

    b) didn’t understand his story

    c) gave a very short translation of it

    d) laughed loudly for a few seconds

   34. The students laughed because ……………………. .

    a) the long story was amusing

    b) they enjoyed the story

    c) the translator asked them to

    d) the translation was very funny 


	

	
	   جمع نمرات
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